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A.	 Fill in the blanks using the hints given below:

1.	 …………….…. is the result that we get after processing. 

2.	 Computer work on the Input-Process-Output cycle, also known as …………….…. 
cycle. 

3. 	 …………….…. is an input device. 

4. 	 CPU performs all the …………….…. .

B.	 Write ‘T’ for true and ‘F’ for false.

1.	 Computer performs action on receiving the input.� ………….

2.	 Printer and monitor are input devices.� ………….

3.	 Keyboard is an input device.� ………….

4.	 Computer cannot make an Input-Process-Output cycle (IPO) cycle.� ………….

C.	 Rearrange the letters to get the meaningful words. 

1.	 SEAKEPRS�

2.	 NITROMO�

3.	 INPRTRE�

4.	 UUTPO�

5.	 ROPSECSGNI�
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